



Name: \_\_\_\_\_

Date: \_\_\_\_\_ Score: \_\_\_\_\_

$$(-1)^2 + 3 =$$

$$(-3)^{(-1)} + (-1) =$$

$$10^2 + (-5) =$$

$$2^{(-2)} - 8 =$$

$$(-10)^2 - (-9) =$$

$$(-3)^{(-2)} - (-10) =$$

$$7^2 - 6 =$$

$$9 - (-7) =$$

$$10^2 + (-9) =$$

$$10^{(-2)} + (-2) =$$

$$5^0 + (-4) =$$

$$8^{(-2)} + (-2) =$$

$$10^{(-1)} - 7 =$$

$$(-2)^2 - (-3) =$$

$$6^{(-2)} + (-7) =$$

$$(-10) - 8 =$$

$$(-4)^2 + 10 =$$

$$8^0 + (-3) =$$

$$6^2 + (-8) =$$

$$(-7)^{(-2)} - 10 =$$



Name: \_\_\_\_\_

Date: \_\_\_\_\_ Score: \_\_\_\_\_

$$(-1)^2 + 3 = 4$$

$$(-3)^{(-1)} + (-1) = \left(-\frac{4}{3}\right) = \left(-1\frac{1}{3}\right)$$

$$10^2 + (-5) = 95$$

$$2^{(-2)} - 8 = \left(-\frac{31}{4}\right) = \left(-7\frac{3}{4}\right)$$

$$(-10)^2 - (-9) = 109$$

$$(-3)^{(-2)} - (-10) = \frac{91}{9} = 10\frac{1}{9}$$

$$7^2 - 6 = 43$$

$$9 - (-7) = 16$$

$$10^2 + (-9) = 91$$

$$10^{(-2)} + (-2) = \left(-\frac{199}{100}\right) = \left(-1\frac{99}{100}\right)$$

$$5^0 + (-4) = (-3)$$

$$8^{(-2)} + (-2) = \left(-\frac{127}{64}\right) = \left(-1\frac{63}{64}\right)$$

$$10^{(-1)} - 7 = \left(-\frac{69}{10}\right) = \left(-6\frac{9}{10}\right)$$

$$(-2)^2 - (-3) = 7$$

$$6^{(-2)} + (-7) = \left(-\frac{251}{36}\right) = \left(-6\frac{35}{36}\right)$$

$$(-10) - 8 = (-18)$$

$$(-4)^2 + 10 = 26$$

$$8^0 + (-3) = (-2)$$

$$6^2 + (-8) = 28$$

$$(-7)^{(-2)} - 10 = \left(-\frac{489}{49}\right) = \left(-9\frac{48}{49}\right)$$